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int main()

{
int a=560;
double f =123456789.1234;
printf("%g\t%-6.4d", f, a);

unsigned short i = 65535;
while(++i 1= 0)
printf("%d\n", i);

return O;
}
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int main()
{

float grade = 0.0;

int item1 =9, item2 = 16;
grade=8/5-4*1<=2*2+1==1+2;
printf("%.2f\n", grade);

grade = 1.0 * item1 / item2;
printf("%.2f\n", grade);

grade = 1.0 * (item1 / item2);
printf("%.2f\n", grade);
return 0;
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#include <stdio.h>
int main() {
inta=20,b=12,c=230;
float p = 0.1, g = 0, multiply;
printf("sqrt a * p = %g", sqrt(a * p));
scanf("%f", p);
printf("p / q = %f", p/q);
multiply = product(a, b);
printf("Product is %f", multiply);
if (@< b<c)
printf("b is between a and c");
else
printf("b is not between a and c");
for (@a=0;a<c;--a);

if la
printf("a is zero")
return O;
}
void Product(int a, float b) {
return a * b;
}
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#include <stdio.h>
#include <math.h>

int main()

t
inti, j;
floatr =0;
float temp = 0;

float Sigma = 0;
printf("Please enter r:\n");
scanf("%f", &r);

for(i = 0; i < 10; i++)

{
if(i% 3==0)
temp = (3 *i+ 1) +sin(r);
elseif (1% 3==1)
temp = (3 * i+ 1) + cos(r);
else
temp = (3 * i+ 1) + tan(r);
Sigma += 1/ temp;
}
printf("Sigma is %d", Sigma);
return O;
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orintf("%d\t%d\n" a,b);

inta=1,b=1;
while(b = 10)
{
if (++a==5)
b++;
continue;
a--;
}
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int x,y;

int func(int a)

{

inth=1;

staticintc=1;

if(c>1)
printf("%d", b);

b++; c++;
intm=a*a;

X =5;:
a=71,;
y++;

printf("%d", y);
return m;

¥

int main()

{

inta, b, c, m;
m=1x=2;,y=3;

a=4;

b = func(a);

printf("%d ", b);

a=0o6;

¢ = func(a);

printf("%d %d %d %d", a, ¢, X, m);
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void recursive(int num, int level)

{
printf("Number = %d, Level = %d Start\n", num, level);
if (level == 0)
return;
recursive(num/5, level-1);
printf("Number = %d, Level = %d End\n", num, level);
}
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recursive(123456, 5);
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int numone(unsigned int num);
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